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boevi-y®
@ S 5 Cos (X%t-gz) ax dy Polar Gordinates :
(o]
O <X 4\-31 wa Y eos (112)-Lande
by 0<Yy<| gl

| = 3“72 (_\2_ %in(1?) ):DAQ

f//////// bsly - 31‘—’2 -‘7-_-61?\(\\&\9

X
: K/l ! |
o= i:m \
X - an())
» = —\Z» ‘b‘\n(\)g\em &4 .

@ Aw»oj o ciaendan Seations Ri€MER2 ;) 6,266,

91 Rz
A= S S H ANA0
8, YR

91 ‘Ll Rl Ag
Xe| 2‘ an(

= XE’* RI-R' Jo
B , %

Ra-Ri g \91 L RE=R)(®,6 ﬂ

5 0 =06, z

\

Polon Coondinakes -

0<X= J@" 5)2'31 SWIZ Sﬁns e“. HANAO
(8]

(o]

¥ {M - S:”" ans(e")’-na\uag
///// . 6 i\']z (E/QALE _e\t\iwf)ae

% g 5
\_/ = | G5 -5 +)de 41;_(5%»)—4)&



Worksheet 12 - Solutions
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